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The second term was physiocratic in terms of circular flow of production. 
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1. 2. 3. 4.
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Gross profits are called quasi-rents because once installed, a piece of equipment is fixed like an

area of Ricardian land. 
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1. 2. 3. 4.

Incomes earned in producing goods for export are largely spent in the home market, thus giving a

boost to home demand.
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1. 2. 3. 4.

Veblen could make no headway against neoclassical metaphysics, and his protest has been swept

aside in the main stream of American economic teaching. 
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1. 2. 3. 4.

In Wicksell's theory of distribution, workers and means of production are seperate factors but all

on the same footing, without regard to the difference in their social relationship.
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1. 2. 3. 4.

The doctrine throws into clear light the action of one of the causes that govern wages. 
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1. 2.

3. 4.

The “greatest good” of the “greatest number” is a metaphysical concept. 
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1. 2. 3. 4.

Mr. Ozawa was seen as Mr. Olsen’s heir apparent. 

�%/�? @��� A��� @��� @��� �%/�? =�� ���� @���

8-

1. 2. 3. 4.

Myrdal had long since understood the ideological function of the concept of equilibrium. 
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1. 2. 3. 4.

Adam Smith proclaimed the virtues of a capitalist economy but did not have a secure grasp of its

mode of operation
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1. 2.

3. 4.
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A rational consumer maximizes his total utility by equalizing the marginal utility. 
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1. 2. 3. 4.

The concept of the velocity of circulation refers to average number of times that a piece of money

enters into transactions during a year.  
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1. 2. 3. 4.

Interest rates rise, because people require a higher reward for lending money which is falling in

value. 

 �%6��� ����+ �%6��� H�
��  �%+
� J 2%4�  �%+>�� =%-�

13-

1. 2. 3. 4.

Aggregate demand is deficient because it is lower than full-employment aggregate demand.
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1. 2. 3. 4.
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Economic scarcity requires people to make economic choices.
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1.

2.

3.

4.

Each purchase may foreclose buying the others. 
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1.

2.

3.

4.

Companies are also forced by scarcity to make careful choices among alternatives as they convert

inputs into outputs.
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1. 2.

3. 4.

 What are the necessary requirements for a commodity to have such a wide market?
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1.

2.

3.

4.

Saving is discouraged because postponing consumption simply means that goods cost more if

bought later.
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People reveal that the extra leisure is worth at least as much as the extra goods that could have

been produced by working harder.   

...... ���' ����+ ��6�
��+ 	� %+ #�& ��' ���&�� �' ...... 
�� ����+ #�
��+ 	� %+ #�& ��' Y&�+ �'

........ 
�� ����+ %+ #�& ��' �� #�
��+ 	� �' ........ ���' ����+ %+ #�& ��' �� ��6�
��+ 	� �'

25-

1. 2.

3. 4.

With comprehensive national income accounting, this output of acid rain would have been

deducted from GDP. 
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1. 2.

3. 4.

Structural unemployment refers to unemployment arising because there is a mismatch of skills

and job opportunities.  
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1. 2.

3. 4.

By a horizontal merge we mean the union of two firms at the same production stage in the same

industry.
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Households switch to gas-fired central heating and buy smaller cars. 
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1.

2.

3.

4.

Broadly speaking, this assertion happens to be correct. 


��
 #9< �$
� 5 � j�*+� c��%� W	�' ��X �� � R 	� �
 GR J� #&�
 �� �+ 5 � W=
%6�) %h�� J�

#&� #&�
 �0�*+� A1� 5 � W_�&� `���� �
  ��' 	� j�< 	�' ��X �� �:$� 5 � �0�*+�

30-

1. 2.

3. 4.

4   از 4  صفحه  1391  تابستان   &)&)/&)&)1+(& 
www.HDaneshjoo.ir

 hdaneshjoo.irبروزترین سایت نمونه سوالات پیام نور کارشناسی و کارشناسی ارشد همیار دانشجو  

 

 

 

 

 

 

 برای دانلود پاسخنامه سوالات به سایت همیار دانشجو مراجعه کنیذ

 

 

http://hdaneshjoo.ir/

